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SHURE ELHE #RME (EUDAIR)
LT REBLAE - 5k K REzmt

5 (%) MEFZR | FHR e | mwmm |EPRNEE pupan | enman | ssmr | wmn AR
R5.4.4 1 |himsks (REEHED 4,900 100 4,900 0 0 0 0 0 0 4,900 0 0 0
R5.4.4 2 BFRAETERE ETCREM) CHm) 41601 100 4,160 4,160 0 0 0 0 0 0 ¢ 0 0
Rb. 4. 4 3 |HEAEEERE (e EEN) 4,400 100 4, 400 0 0 0 0 0 0 4. 400 0 0 0
IR5. 4.4 4 (MW EEGRAY 3,028 50| 1,514 0 0 0 0 0 0 0 0 1, 514_ 0
|R5. 4.4 B l4vi—twy bt 2,820 50I 1, 410 0 0 0 0 0 0 0 ¢ 1,410 0
|R5. 4 4 6 [IARNERERY (WA FED 4,565 100 4, 565 0 0 0 "0 0 0 4,565 0 0 0
IRS. 412 7 |HESENE(KIBEBHES) 30,000( 1001 30,000 0| 30,000 0 0 0 0 0 0 0 0
IR5. 414 8 [EEUy—FIBEE(IA~3AM 8,400 100 8, 400 0 0 0 0 ¢ 0 8, 400 0 0 0
RE.4.20| 9 |[h—Am—UEHRGAS) 44,006 95{" 41,800 0 0 0| 41,800 0 0 0 0 0 ol
R5.4.25| 10 |EHFEMEBREAGRAAS) 15,000 .50 7, 500 0 0 0 0 0 0 0 0 0 7. 500
R5.4.17| 11 |BFiE%ER 1,190| 100 1,190 1,190 0 0 0 0 0 0 0 0 OI
R5.4.261 12 |&FiaT% 1,180 100 1,180 1,180 0 0 0 0 0 0 0 0 0|
0 0 0 0 0 0 ¢ 0 0 0 OI
0 0 0 1] 0 0 ] 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 ] 0 0 0 0 0 0
0 ¢ 0 0 0 0 0 0 0 0 0
4B 123, 643 111, 019 6,530 30,000 0l 41,800 0 ol 32 265 0 2,924 7. 500
ntt 123, 643 111,019] 6,530 30,000 o| 41,800 0 o| 22, 265 of 2924 7 500




